H & 0l & AHS B Ml A

20238 =0ila eS| TR

A THRD

M NFEHHES(LDD

02

/QOrsl A )

el MZINE S T (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
THE 1t 3,685,3% 11,266,669 AT,581,274
= 131,492
Jl 27,950
= 6,000
Ea 3,519,953
NFEHEES (L33 E/LlT) 846,278 745,103 101,175
= 103,492
T 742,786
LIZINE P8 446,675 475,175 /28,500
Nl Sl 2= 303,259 296,459 6.800
201 er23 | 246,459 246,459 0
01 At2teltl 88,349 88,349 0
Oget+=ZHI 82,289
-NgA & Mol 23y Y 3,500
AI2A HEy 2 50,000& 202 1,000
KIEA AT Y 100,000%202 2,000
N2l AT+
50,0002 =102 500
-N2A daEX 7Y 30,380
2 OXNAM +¢
68,5003 » 1802 A 12,330
S5 2 MEUXAM 7
68,5003 * 1202 A 8,220
LABEOXIA Y 68,5003 x 1002 A 6,850
AIUSE A 2 50,0003 202 A 1,000
HADIM 258 335 7Y
332 +60,0000H 1,980
-Mlel==e DXA 7Y
68,5003 *302 A 2,09
-RENESEHFA 7Y
68,5003 x202t A 1,370
XA 28 S+ & Hid 2L 9,000
B2 B 50,0002 *152:%62] 4,500
X-tid &X 50,0002 x 1574 2 +63] 4,500
-DXM DEZ2IHI(SE) 2XtE
1,210,000~ 128 14,520
“OXAM DEZRIHI| ARF P
7,464,000 7,464
AR MEIA =25
80&*100,00024 8,000
NN 2 #HA & HEA
4,000&+1,000& 4,000
-EEMSADNER B2 HIE
2,000,000 2,000
O®Igu=HI 1,260




A THRD

Hu: UFEHSE(LBDTHE/ L)

el MZINE S o (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S Y ISR 30,0002 +21 % +23] 1,260
om = 2,000
DIAHIA DOIS e 29 DY
200,000 x5 =23 2,000
O=g+y 2,800
MM AR g
70,0002 %10% +43] 2,800
2 ZZ2H| 158,110 188,110 0
OBB23 % HA 168, 110
TISAI DA (L)
4302 *150,000A 64,500
-XIgA DXIN 2&E(S01)
2,53021%25,0004 63,250
“SET U HEHE DNALB(SI)
2,530 %12,0004 30,360
202 04| 19,200 19,200
01 =LHOLI 19,200 19,200
OXEgAl o122 gF&82 & EIIU d=+=
e 1000002562 * 128 7,200
OXIN SEH 28 U BT =X
100, 0002 #5212 6.000
ODIMLXY HBH SX L MK &a
=d 100,000 x5+ 12 6,000
204 MPo=HAH| 28,800 26,400 2,400
03 S3Y =3I 28,800 26,400 2,400
OM=EggsRd 100,000 x24E « 12 28,800
405 AHaHE = 8,800 4,400 4,400
01 It =S F = 8,800 4,400 4,400
O=gelslI(EH) 2,200,000 *4CH 8,800
N Al2te A=A 3,120 3,120
203 =] 3,120 3,120
03 A= PR FA| 3,120 3,120
ONYH SEH 28 22 =7
200,000& *102] 2,000
OX Al =2 =8 140,000 <82 1,120
g4 HNSE =4 10,000 8,000 2,000
301 EtE NS 10,000 8,000 2,000
14 IIEt2 83 10,000 8,000 2,000
Od Nt 2a= 12,5002 400 5,000
OLN AN 33 8,000 x625H 5,000
NZAE 24 AHEIEH 8,100 8,100 0
303 Zal= 8,100 8,100
01 2= 8,100 8,100
OXgHE 2+88 A= 4,900




A HRN
HE: NS (LHDDYE /L)
el MZINE S (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-3 2= 1,500,000 x10HESH 1,500
- 1,000,000& *20HSH 2,000
-2 700,000 <204 EH 1,400
OBl MEd do 2+FA Ald= 3,200
-3 2= 1,000,000& * 1 £ A 1,000
-2 500,000 *27H R A 1,000
- 300,000 *4IH 2 A 1,200
NN Z23t 122,196 159,49 A37,300
201 et 3| 20,640 20,040 600
02 s3=gHl 20,640 20,040 600
OAlZ EHIs Xl 20,640
-N2A X SR AIAE SR
660,000& * 122 7,920
-N2AH 88 It AHS RAE
730,000 * 122 8,760
XA SYAMF 010K 2208 |2
- 330,000 * 122 3,960
306 £= 5,790 5,692 B
01 2d= 5,790 5,692 ]
020234 XSMAFE EX=5
48,249,116,0002/+0.00012 5,790
308 AXItHS0IA 95,640 65,717 29,923
11 S| 2SO0 SHAEAIE 95,640 65,717 29,923
OM+=LEBAIAY S E4
32,900,000& 32,900
OHZE & SHALMIZALE S FAL
= 3,532,000 3,532
OXMITH XIZMEEAAE S22
59,208,000& 59,208
403 MR EHHSAHE01H 126 68,047 A67,921
02 SII12ASOITH St =2 X A E A I 126 68,047 167,921
OXMITH XIZMEE2A A=Y
126,000 126
KA Mg 258 21,000 21,000 0
NLA Mg x4 =2 6,000 6,000 0
201 er23 | 6,000 6,000 0
01 At2teltl 6,000 6,000 0
Oggt=3=H| 6,000
S MA =22 =2
3,000,000 3,000
-M2lg MEXEs tHEE 2HW ==
= 1,000& *1,00024 1,000
WA ER = 1,000& *1,00024 1,000
-HsE gis 835 1Y
1,000,000 1,000




A THRD

Hu: FHRSE(LBDTHE/ L)
H 2

S RSV IPUISEETEEIEN (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
N 2oz Xs 15,000 15,000

303 Za= 15,000 15,000
01 Z&3 15,000 15,000
OXIA R B4 ZN3
10,000,000 10,000
OMII%el Heod &4 ZA3
5,000,000& 5,000
NEg= & IE 43 378,603 248,928 129,675
= 103,492
s 275,111
IHE =& DHA AL 212,949 222,470 29,521
= 103,492
= 109,457
101 @12A4H| 67,949 76,682 N\B,733
= 33,492
[Ea 34,457
04 JIZtN22 XS 2+ 67,949 76,682 A8,733
OFEIA XA 67,949
-Jl== 76,9602 x3H #2102 48,485
= 24,000
Ea 24,485
-REI2esg 76,9602 x3& +60 13,853
= 6,792
[Ea 7,061
2ZEEE S 62,337,600 «P% 5,611
= 2,700
s 2,91
201 Ler23 | 143,000 142,788 212
= 68,000
= 75,000
01 At2teltl 143,000 142,788 212
Oget+=ZHI 140,000
-HEFEOHE HE+a=
7,0002%20,000= 140,000
= 65,000
s 75,000
O=gl 3,000
HEFE Ot A @R
3,000,000& 3,000
= 3,000
202 04l 2,000 3,000 A1,000
= 2,000
01 2K 2,000 3,000 A1,000
OMNEFEINAIA S 2,000,000& 2,000




M THR
M RS S(LESI A /JEET)
Bl Mgz ¥ UE A EER=E)
SA - A - S9I(E) - HIRAY - BES o &t e HIDE2
| 2 2,000
IHE = DFAZAHCKEAI) 17,610 19,058 A1,448
201 23] 15,610 14,018 1,592
01 A2t 15,610 14,018 1,592
Ogersgt) 14,350
SSEFA L AEIN BXTY
30,0002 #5024 A 1,500
DI AS o B
60,0002 *75H 4,500
40t 9 XL I
100, 000& *2001*22] 4,000
OIBA BEZI 4F 242
80,0002 *30= 2,400
OfEESFAIR ZRIH £ 7Y
650, 00024301 1,950
o2gsg 1,260
~SEMIIHBAARS BHLY
70,0002 »9H 23] 1,260
202 04| 2,000 5,040 A3,040
01 ZLHA LI 2,000 5,040 A3,040
OMEFEIIAIA S 2,000,000 2,000
ES2HAA 2= 7,400 7,400 0
202 044l 2,400 2,400
01 =LHOLI 2,400 2,400
OEF2HAMA Xl A
100,000 x2H 122 2,400
303 Z&af= 5,000 5,000
01 Z& 3 5,000 5,000
OEF2HAME &= 5,000,000& 5,000
DEANZIIRHLR2SE 140,644 140,644
201 L= 53,400 53,400
01 AFR2t2ltl 53,400 53,400
Oget=EH| 47,800
-USALE JIRNH 22 =2 A
50,0003 * 1400 S & +304 222] 22,400
-EAE JIRH B2 22X A
1,000& +10,000% 10,000
-USALE JIRH Al 22
5,000,000 27 2 10,000
—OEALE JIRH JIE R =2
100,000 +9,00024%2.4%+0. 25 5,400
Oo2g+g 5,600
-HalsdE fI33
70,000 10 #42] 2,800
-Jl=z2842 A”S
70,0002 «10H 43| 2,800
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A HRN
HE: A E(LNDDYE /L)
SRl MEZ= 2 0tE A (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 2,400 2,400
01 2LHoIH 2,400 2,400
OLEAME JIRES HE g5 =8
100,000 =2 * 12 2,400
301 EetE2 N = 76,500 76,500
14 JIEH2 A2 76.500 76,500
ODEMEY JI93 22l B
900,000,000 x30%+0. 25 67,500
OLEAY JIFS EellS BiS=HI
4,00021%9,00024+0.25 9,000
308 AHXIEMSOIE 8,344 8,344
1 SIS0t HAS A 8,344 8,344
ODBANEY JI22 ZEFBALY SN2
uf 8,344,000 8,344
SIATH A2 (LSS Y/ LB E) 2,763,981 10,449,470 7,685,489
= 28,000
Il 27,950
= 6,000
Ea 2,702,031
2 H2tel 74,050 74,950 A900
Set A2 74,050 74,950 2900
201 er2 3| 69,450 67,950 1,500
01 AtR2t2|HI 57,950 56,450 1,500
Oget+=EHI 44,030
-=HEEX ¢ JHEEEEX 7Y
75,0003 * 122 900
ANE EEHEA Y
25,0003 x208 A 500
AN W REAF 1
180,000 ~65& 11,700
SA2gEE ML 2Y
170,000& 6 1,020
-LIZIEHOIZ =8 700,000 * 122 8,400
-MEHE SHA BEZ
15,000,000& x12] 15,000
-ANESEM HA S 7
500 *2,7000K 1,350
-HE0l el & BFEAY
300,000 *43] 1,200
-HMZHO0l ZHAHIA OlE=
330,000+ 122 3,960
O=g=g 13,920
—ZAHEARE =g
100,000 x5 20 10,000
AR =g 70,0002 »7 H+82] 3,920
02 S3=gHl 11,500 11,500 0




SA: LD
A M2 (LS /Lol y)
Celr sl AI2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=32= & HAl 11,500
B2 SR WIE2ELE=
25,0002 %100 2,500
—SMUHE FAE2=4| 750,000 * 128 9,000
202 04| 3,600 6,000 A2,400
01 =LHO LI 3,600 6,000 A2,400
OZelgd® SAZA
60,0002 x5« 123 3,600
307 elztol & 1,000 1,000
12 IZRIRAE =4 1,000 1,000
OZ B AIRE wSH| 250,0002 x4 1,000
=37 Mat2tel 2,689,931 10,374,520 A\T,684,589
= 28,000
Jl 27,950
< 6,000
Ea 2,627,981
Hatzte| R 1,525,495 1,510,770 14,725
101 @124H| 40,262 38,119 2,143
M ORINZZ2NSE S 40,262 38,119 2,143
OFA & SFMat2] 27,968
-Jles 76,9603 1 +22L « 122 20,318
-FaRdadfsd 76,9603 x 1 +67 5,157
-HYEEE = 25,473,760 *P% 2,293
-/ =H| 200,000 *1& 200
OFAL 33 N=HY
163,671 x5ZH+4 2 %43 12,294
201 fet= 3| 926,647 890, 101 36,546
01 AtR2te|HI 128,758 129,924 1,166
Oget=EH| 125,308
-HA4 g 2UEE FY(=F)
14,000,000 14,000
-EA ¥ PUES YU (H=H)
6,000,000& 6,000
-MYD| S& FE(2F & gsa)
1, 1502 *2,5000HK 2,875
-HIIES 7Y 4,800
.LED et& D] 30,0002 = 100K 3,000
A 2SS A
150,000& * 122 1,800
St AHHA (=2 L A=)
12,1003 x3574 2=%92] 3,812
-HAb 2 ASH|(2H ¢ =2
30&*11,067m « 102 14,388
SR ZHEI R 2 #E S
13,000,000 13,000




2A:

IR

A A2 (Lt /Lol y)
Rl IR EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ZOIHEl oMl U ez
1,470,000+ 122 17,640
52| MHA e 242
200,000 * 122 x30H 2 7,200
EHA AZAS FHY OB 228
600,000 * 122 7,200
ST HIO AT ABR(HA Y B2
17,0003 x480H 2+ 123 9,792
-SIEE)| dE AE
33,9503 5404 -+ 123 22,000
-ZAF 20| HE 26,7003~ 10 =122 321
-S4 M = 190,000& ~ 12& 2,280
O=28+¢ 1,750
SRML oA =g
70,0002 x5 +53] 1,750
OFS W =H| 700
-2t 2 MO|oHM 2|kt 700,000& 700
Ooul=Hl 400
- At2e| 013t 200,000 x2&H 400
Oogxz 600
-EAEHl =401 & XX 24Xt
300,000& =22 600
2 s5=34l 797,889 760,177 37,712
Os&82= € MA 697,590
-VrdgERs 10,5002 x30CH+ 122 4,914
-&JI= 253,052
AEBRB(2H) 181,552,000 181,552
AS2S (=) 71,500,000& 71,500
25 AL 2eltl 270,000 x 122 3,240
-Adedsrilz 24,0003 201+ 122 576
M 23 1,780&%3,000m" « 12 64,080
-ot+=k 23 600& +3,000m" 12 21,600
-SHEBI(AS - AES - M=+ SH)
211,552,000 *110% 232,708
-EGHHHAZSHSH(E XS - FPHa - S#H
EEtHa) 103,400,000 *110% 113,740
=AY HEES A3
90,0008 %12 0
-H3E HA(27)
400,000% x4 2:+23] 3,200
-527| I8N =8
130,000 *30H A 390
OAlZ &I Xl 100,299
=& 1,60024%10,595m 16,952
=2 2,000 *1,980m" 3,960




S 2D
I SO (LErSSYE/URY)
=2l == a2t (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=D 2 X1 3,000 *546 1,638
25 A 2122 1,000,0002 1,000
-S4 BZ Sx2e 70,0002 33 210
“HEA ST 300,0008! %23 600
~2EI| | 1,400,002+ 13l 1,400
“HAL Hhe B A 1,10024%11,067m 12,174
“HA S2IF HA 7,8502 %900 7,065
“HAL HAX HA 1,500, 0002 23] 3,000
—WLh| SR 20,000,00024 20,000
“0x)] ¥ BEI| X2
50,0002 23] 300
~A2|HI0IE(S2I1) SR
1,000, 0002 +3CH 3,000
“HAHIE SXE4 4,000,0002! 4,000
ENE SALS 2,500,002 2,500
24 Fls22 2 MY T SXLL
4,000,00024 4,000
“HA B MR
30,0002 %350 12 10,500
“HAF BHE AR 2,000,00024%43] 8,000
202 Ot 4,800 4,800
01 2UH0Il 4,800 4,800
OZSMWA BRI AEHFA}
100,002 +4% * 128 4,800
206 TH2H 16,000 16,000
01 M=l 16,000 16,000
OXA ZHE 3% 2 HIZ 7Y
16,000,0002! 16,000
401 A2 2L S THY| 537,786 561,750 23,964
01 Al&2H| 529,243 552,300 £23,057
OFAHSTS) HIINEEY B
5,000,000 2! +2A! 10,000
OZAN 82 NEA 20,000,00024 20,000
OUEEZ A 452,000
WA ZAHDHED) 285,000,0002! 285,000
“LHEI2Y DA ) 167,000, 0002 167,000
OUWRIEZ ZAF AAl EHHI(CHE, ot
452,000, 0002 %5.98% 27,030
OURISBY DA AAl HAHI(DE,22)
338,000, 00024 %5.98% 20,213
02 22| 8,543 9,450 907
OWRIEZ ZAF AIAL Z2/HI
452,000,0002%1.8% 8,543
S NEEED 115,781 64,281 51,500
201 LEr2 | 11,781 11,781 0




SA: LD
A A2 (Lt /Lol y)
Rl IR EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 5,781 5,781 0
Odit==H| 5,781
=83 d8+rE A=
313,500& #2JH 2-+32 1,881
~SXHER 2 (RFID) Y 6502 6,000 3,900
2 352484l 6,000 6.000 0
OAlZ &I Xl 6,000
-SMXEHD(RFID)EHI & ATZERIN |2+
Hl 6,000,000& 6,000
405 KHoHFSHI 104,000 52,500 51,500
01 L ESFISHI 104,000 52,500 51,500
OHA2E LHI(HIS) 100,000,000& 100,000
O&EXERD elHd] +
2,500,000 «1CH 2,500
OXXERTD eIt S8 S/W etold A 2
1,500,000 *1CH 1,500
SASAtE 2el 369,526 210,3% 149,130
201 fet= 3| 171,526 196, 3% N\24,870
01 AtR2te|HI 2,500 20,500 18,000
Oget+=EHI 2,500
-UEER SAZ 625,000 432 2,500
2 352484l 169,026 175,8% /6,870
O8&82= € HA 31,626
-SEAE BFNERES 1,280
A (st & 58)
60,0002 4 LH 23] 480
HE(agstE & HESE)
40,0002 «10CH =22 800
NS A 7,246
.2000cc Ol&H(LHESE) 760,000 *5CH 3,800
.1600cc ~ 1999%cc(ZSEHESE)
500,000 *3CH 1,500
.1001cc ~ 159%cc(AESE)
240,000 *2CH 480
.1000ccOIGH B E S E) 100, 000-& *2CH 200
HEgsE 115,000 *2CH 230
S8s¥ 65,0002 «2CH 130
Ue=t= 171,000& +2CH 342
S83=Ext 48,000 *7CH 336
AEEER 28,5002 +8H 228
-ASi E8= 660,000 »35CH 23,100
OXxtgrdet] 137,400
-SE(UE . 58,48, 38) 38,500
Uegss 3,500,000 *6CH 21,000
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2A:

IR

A A2 (Lt /Lol y)
Rl IR EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SESE 3,500,000 «3CH 10,500
AESE 3,000,000 «1CH 3,000
BEsE 2,000,000 *2CH 4,000
S8 23,200
Oese 10,000, 0002 1CH 10,000
Sg8s¥ 4,400,000 3CH 13,200
-3t= 64,700
Uigst= 11,000, 0002 = 1CH 11,000
SeEt=E 3,000,000 «6LH 18,000
AEEE 2,300,000 9CH 20,700
Ex3= 3,750,000 *4CH 15,000
-HEI(8E) 11,000,000 11,000
401 AIEHIZ SR OHYI 8,000 14,000 26,000
01 Al&HI 8,000 14,000 26,000
O&IIX sdx(2) &X
8,000,000 = 1CH 8,000
405 AHaHE S 180,000 180,000
01 ML ESFHSH 180,000 180,000
Osgsait 7 130,000,000 *1CH 130,000
Olgssit ¢ 50,000,000 = 1CH 50,000
HIIXSA B2 ¥ STt IF(2AE ) 90,000 90,000 0
= 28,000
= 6,000
Ea 56,000
405 KHoHFSH| 90,000 90,000 0
= 28,000
= 6,000
= 56,000
01 ML ESFHSH 90,000 90,000 0
O&IIT P (HP 2, S AtH)
45,000,000 *2CH 90,000
= 28,000
= 6,000
= 56,000
22 Al 4X 98,400 97,800 600
Jl 27,950
o 70,450
401 Al HIZ S OHbI 98,400 97,800 600
Il 27,950
o 70,450
01 Al&HI 93,400 92,800 600
OHZed Ald X &L &AHI(Z0t- &
=0) 93,400,000 93,400
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2A MR
PSE K ilﬁlXHMJ—’—*El( 15| pg_g_éHX-I/OltIFéHI-I)
&2l ZSFMe2L (¢t

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 27,950
s 65,450
02 Zeltl 5,000 5,000 0
OtfefZ2ed AlE 4X 5,000,000& 5,000
HAretd 3l 53,000 530,000 A477,000
401 Al HIZ S OHYI 53,000 530,000 A477,000
01 AlZ28| 53,000 530,000 A477,000
OAIZTE 0l HAAAE JHS AL
20,000,000& 20,000
OFEAL AHMA At 33,000,000& 33,000
O12E EAL &= ALY 80,000 4,108,800 /4,028,800
201 Ler23| 20,000 40,000 /20,000
01 At2teltl 20,000 40,000 220,000
OFEA} 018H| 20,000,000& 20,000
405 AtatE = 60,000 0 60,000
01 TR ESFSHI 60,000 0 60,000
OO0IS HA AIF ALRIIR 7
60,000,000 60,000
T3 FHAL =AY 332,729 0 332,729
401 AlEHIZL S0 332,729 0 332,729
01 Al&tt] 306,557 0 306,557
OFERIs| M SEAI
326,556,800 326,557
02 Zaltl 6,172 0 6,172
O=ERoIs M FEAY el
326,556,800 *1.8%% 6,172
A F=XE & AR S5 A 35,000 0 35,000
401 AlZHIY 201 35,000 0 35,000
01 Al&H| 35,000 0 35,000
OFAL =Xt L AMRA S5 Bty XA
35,000,000& 35,000
A2 ZHI(HRD) (OIEHIIEL) 75,136 72,09 3,040
[=ZHI(H2D) 75,136 72,096 3,040
JlE2ZHI(IHS) 75,136 72,096 3,040
201 et 3| 40,476 40,476 0
01 At2t2l] 40,476 40,476 0
Oget=ZH] 12,000,000 12,000
Or==1:] 28,476,000 28,476
202 04l 27,940 24,900 3,040
01 =LHAHI 27,940 24,900 3,040
OJ|2ga3 27,940,000& 27,940
203 =2l 5,520 5,520
M FA2HHIFII 5,520 5,520
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2A:

il
Im: WHSAAH| (WS (IIEHIIE)
Che|: ZHI(HSLDH (e &M
H - B8 S9l(30) - NRAY - BAS ol b e HlmS2
ORASGYALET| 5520
-30010I5t 40,0002 » 122 4,800
-310101 4 5,000 129128 720
204 MRS AH| 1,200 1,200
01 HB SR 4aA| 1,200 1,200
OXMGARFE| 100,000& « 12 1,200
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